BODMAS WORKSHEET 2

Test 1 Test 2

1 |(5+6)-(-7-4) 1 [6x(-2+-4)+2
2 |(3x2)+13 2 |9x2-(-4)

3 | (-4x-2)x (16 + 2) 3 |6-[24 + (-6 + 10)]
4 |-13+7(4-2) 4 |5+ (1-3)

5 | 5(6--3)-4 5 | 4x-4 =+ (-4)

6 |12(3 +4) -3 6 |7x[-2-(3+-2)]
7 |9°+(-3+-7) 7 |9+[7+(-2)1

8 |132- (52 + 4) 8 |[2x(-3)2-8]+2
9 |8-2(6-3) 9 |5-3x6+4+3
10 | (11 --2) x 3 10 | 4+ [(4 + - 2) x 2]
Test 3 Test 4

1 |1x(-1x1) 1| (-1)

2 |1+ (-1x-1) 2 | (-1)3

3 [1x(-1+-1) 3 | (-1)*

4 |1x(1+-1) 4 | (-1)5

5 |-1x(-1+-1) 5 |-(1)2

6 |1+ (-1x1) 6 |-(1)3

7 |1+(-1x1)x-1 7 | -(1)*?

8 [1+(1x1)x-1 8 |-(-1)?

9 [1+(1+-1) 9 |-(-1)°

10 | 1x (1 + -1) x (-1 x -1) 10 | -(-1)*

Free worksheets from www.ks3maths.co.uk ©2008


http://www.ks3maths.co.uk/

